SP-IV/BOTG/CC-1D/GE-4/23

B.Sc. 4th Semester (General) Examination, 2023 (CBCS)
Subject : Botany .
Course: CC-1D/GE-4
(Plant Physiology and Metabolism)

Time: 2 Hours Full Marks: 40

The figures in the right hand margin indicate full marks.

Candidates are required 1o give their answers in their own words
as far as practicable.
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1. Answer any five questions from the following: 2x5=10
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(a) What is the function of phloem? How do the two types of conducting cells in phloem
differ? 1+1
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(b) What is the difference between a macronutrient and a micronutrient?
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(¢) Where are most cytokinins produced? From what biomolecule do cytokinins appear to be
derived?
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(d) What is a pigment photoreceptor?
AR LR g owtef e
(¢) Compare respiration and fermentation,
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(f) What is a chromoprotein?
Fareba e
(g) What are G-proteins?
G-cafos e
(h) What is entropy?
Entropy 7
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2. Answer any two questions from the following: 5%2=10
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(a)

¥

(b)

(c)

(d)

What is pressure potential? How does it differ from solute potential? How do these pressure
cause water to rise in a plant? 1+1+3
‘Pressure Potential’ F? ¥R potential-9% (A& €7 wHie A 2 O3 5iAeRH Frera Bfew o5
TSR IGA AL A

Does stomata regulation require energy? Explain. 1+4
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Compare and contrast the receptor systems for ABA and ethylene. What unique problems
are related to the study of ethylene as a plant hormone? 3+2
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Why is TCA cycle so called? How the two products of glycolysis are connected to the
reactions of the TCA cycle? 2+3
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3. Answer any two questions from the following: 10>2=20
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(a)

(b)

Describe the concept of a photosystems and how they are involved in converting light energy
to chemical energy. 347
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Why “biological nitrogen fixation is considered exclusively as a prokaryote domain? Describe
briefly the process of rhizobial infection and nodule development in a legume root. 4+6
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How does temperature influence the geographical distribution of plants? What modifications

you expect in plants for adaption to (i) high temperature habitats (ii) arctic or alpine habitats?
6+242
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Distinguish between K,, and V,,,, of an enzyme catalyzed reaction. Explain the allosteric
modulation of an enzyme activity. 6+4
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